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Diploma Engineering - SEMESTER-I&II « EXAMINATION - SUMMER - 2015
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GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Quantity Survey and Valuation

Time: 02:30 pm - 05:30 pm

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.

Q.1

Q.2

Q.3

Q.3

Q4

3.

Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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(1) Enlist data required for preparing an estimate.
(i1) Give the multiplying factor for the following item in painting work
(for one side only) .
(a) Partly paneled & partly glazed door.
(b) Fully louvered window.
(c) Steel rolling shutter.
(d) Collapsible door.

What are the main purposes of valuation?

Give the principles of specification writing. &explain any two.
Derive the rate analysis for 12 mm thick cement plaster in 1:3 cement sand
mortar
OR
Write the factors affecting the rate analysis.

Work out the quantities of following items from fig No.1. of residential
Building by center line method.
Excavation for foundation

(i) D.P.C at plinth level
(i1) Cement concrete (1:4:8) in foundation
OR
Workout the quantities of following items from Fig. No. 1 of residential
Building by center line method.

Stone masonary in 1:5 cement sand mortar in foundation &plinth.
Outside 20 mm thick cement plaster in 1:3 cement sand mortor

Workout the quantities of the following item of work from fig. No. 2
For R.C.C. beam.

(1) R.C.C. work in beamin 1:1.5:3

(i) Formwork for beam.

Find the quantity of main steel 16mm dia. bar only.

OR

Workout the quantities of the following item of work from fig No. 2
For R.C.C. beam
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Find the quantity of steel stirrups 8mm dia. 07

(1) Find the quantity of cement,sand & aggregate required for beam for 04
proportion 1:1.5:3
03
(i1) Find the total quantity of steel in kg. for R.C.C. beam , considering 1.5 %
steel

An old building has been purchased by a person at a cost of Rs.15, 00,000/-
excluding cost of the land. Calculate amount of sinking fund at 8% interest,
assuming the futures life of the building as 20 years and the scrap value of 07
the building as 10% of the cost of purchase.

A building has monthly rent is Rs.4000 total outgoings are 20% of total 07
annual rent and rate of interest is 8% on his investment find capitalized
Value of the building.

OR
Explain following terms
(1) Book value (ii) Capitalized value (i1) Salvage value 03
Give the difference between free hold property and lease hold property 04
A building owner constructed a building in a developing area of a city. 07

Find the annual rent from following data.
(i) Construction cost of building = Rs.10,00,000
(i1) Cost of land = Rs.6,00,000
(ii1))  Return on value of land =6%
(iv) Return of cost of const =8%
(v) Total outgoing is 20% of total income.
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